Pe3ybTaThl IIKOJBHOI0 KOHKYPCA MO3aMYHbIX
noJioreH «Ilo0eaHbIN Mail»

CpeaM 2 KJIacCOB:
1 mecTo 3aHs1 = 2T KIj1acc;
2'MeCTO pa3Aeianiiv - 2a 2B KJIacc;
3 MecTo - 20 Kj1acc.
cpeau 3 KJIACCOB:
IMmecTo 3aHs7 - 3B KJ1acc;
2 MECTO-3a KJacc;
3 MecTO-3T KJ1acc.
cpeau 4 KJIacCOB:
1 mecrto 3aHs1 - 40 KI1acc;
2 MecToO - 4a u 4B KJjacc.
cpeam S - 6 KJI1aCCOB:
1 mecTo 3ads11 - S5a Knacc;
2 MEeCTO pa3[eiiiiu - 6B 1 50 Kiacc;
3 MecTo - 5B KJiacc.
cpeau 7 - 8 KJ1aCCOB:
ImecTo paznenuin - 8a 1’80 Kiacc;
2 MecTo - 70 KJiacc;
3 MecTO - 7a Kjaec:
cpeau 9 - 11 kimaccoB:
1 meero3ansa --10a knacc;
2"MecTo - 9B Ki1acc;
3 MmecTo - 90 xIacc.



